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NIV —=VT7— SMBLBIRAUER

K& MU o 2 s B THIER BB | BRI WA | BIIE IR | BB Bl | (BB Dobat o
X¥E EH R @) FG1-1 7.405| FG1-3 5.882 | FG1-3 5.857 | Mi1-1 13.429 5.000 37.573 1
w9 Kith KR @) FG1-1 7.405 | FG1-3 5882 | FG1-3 5857 | Mi1-1 13.429 5.000 37573 1
HE £8& EiE @) FG1-3 5.243 | FG1-4 5.882 | FG1-4 5214 | M1-3 8.857 5.000 30.196 2
B FE= ZIE O FG1-3 5243 | FG1-4 5882 | FG1-4 5214 | M1-3 8.857 5.000 30.196
mE A FE] Ly O FG3-1 6.865 | FG3-1 6.706 | FG3-1 4143 | M3-1 5.810 5.000 28.524 3
A =88 =3I O FG3-1 6.865 | FG3-1 6.706 | FG3-1 4143 | M3-1 5.810 5.000 28.524 3
RiI BF E= O FG1-1 8471 | FGI1-1 8.429 R 2.000 5.000 23.900 4
thiE FO4F = O FG1-1 8471 | FG1-1 8.429 R 2.000 5.000 23.900
ME X RIR O FG1-2 6.054 FG1-2 6.821 | M1-6 5.429 5.000 23.304
BN ', FiR O FG1-2 6.054 FG1-2 6.821 | M1-6 5.429 5.000 23.304 5
A #H= Al O FG2-8 2.892 | FG2-2 5529 | FG2-4 4857 | M2-3 3.714 5.000 21.992
EERT #IBER ¥l @) FG2-8 2892 | FG2-2 5529 | FG2-4 4857 | M2-3 3.714 5.000 21.992 6
e & e @) FG2-2 6.459 FG2-3 5429 [ M2-1 4.857 5.000 21.745 7
IHAEEF HE O FG2-2 6.459 FG2-3 5429 [ M2-1 4.857 5.000 21.745 7
RA = RER O R 2.000 | FG1-5 4.588 M1-4 7.714 5.000 19.302 8
wH BHiE /N @) FG4-1 5784 | FG4-2 4647 | FG4-3 5.750 16.181
Rk 3 IN= @) FG4-1 5.784 | FG4-2 4647 | FG4-3 5.750 16.181 8
INFE R KER e O FG2-4 4973 | FG2-1 6.706 | FG2-5 4.286 15.965 10
RIS EF AR O FG2-4 4973 | FG2-1 6.706 | FG2-5 4.286 15.965
TE = FiR O DNS 2.000 R 2.000| Mi1-5 6.571 5.000 15.571 10
0 %8H =50 O DNS 2.000 R 2.000 [ M1-5 6.571 5.000 15.571 11
BHE =B B O FG2-1 7.946 R 2.000 | FG2-6 3.714 13.660 11
Wi | EiE O FG2-1 7.946 R 2.000 | FG2-6 3.714 13.660 12
7 [ET] IN= O FG1-4 4973 | FG1-7 3.294| FG1-5 4.571 12.838 13
Fl B IN= @) FG1-4 4973 | FG1-7 3.294 | FG1-5 4.571 12.838 12
INEF ST fiE] LI O FG4-4 3.892 | FG4-6 3.059 | FG4-2 5.750 12.701 14
[RE HF [ L O FG4-4 3.892 | FG4-6 3.059 | FG4-2 5.750 12.701 13
LR 1S5 R O FG4-2 4838 | FG4-1 5.529 R 2.000 12.367 15
Nk A fa O FG4-2 4838 | FG4-1 5.529 R 2.000 12.367 14
AW E= IN= @) FG3-4 4432 | FG3-4 4.353 R 2.000 10.785 16
&R ZF /= O FG3-4 4432 | FG3-4 4.353 R 2.000 10.785 15
EH 3 /N O FG2-6 4.973 R 2.000 R 2.000 8.973 16
=E 15 pEd 7 @) FG2-6 4973 R 2.000 R 2.000 8.973 17
AE E& =1 O R 2.000 | FG4-3 4.824 R 2.000 8.824 18
=0 BEE =I5 @) R 2.000 | FG4-3 4.824 R 2.000 8.824 17
m Es REAR @) FG1-7 3.081 | FG1-5 4.588 7.669 18
=H & RN O FG2-5 4.378 FG2-2 4.378 19
ATl /N @) FG2-5 4.378 FG2-1 4378 19
Ng B— REAR O FG1-7 3.081 3.081 20
3w g REA O R 2.000 2.000 20




